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Conditions

The industrial revolution begins in England in the middle of the 18th century,  it's easy to say when and where it started, but, what where the conditions needed for the developments to begin?

Labor was an important condition. Farming had become more efficient, prior to this they had only used 2/3 of the fields at a time and let 1/3 rest until the next year for the soil to become more fertil, but all that changed in the middle of the 17th century, then they started to use turnips and other harvests from the Netherlands and they also started to shift between planting turnips, wheat, and clover for the animals. This way the soil maintained it's nutricion and as a result they could use the entire soil all the time. Another improvement in agriculture was the scientific breading that extensivly improved the quality of live stock. For example the weight of a calf had trippled during the 18th century. They also divided the land so that there were bigger fields.

These improvements led to the fact that farming needed less labor and a large amount of unemployed ex-farmers moved to the bigger cities in hope of finding work.

The second condition was that there was funds available. The colonial forces in Europe had traded with merchandize that the had taken from their colonies. The money eventually ended up with merchants and bankers who could lend it to factory owners.

The technical development was a third factor. During the second half of the 18th century the first textile machines surfaced, i.e "The Flying Shuttle" and the "Spinning Jenny". They initially ran on waterpower and were therefor needed to be located near a watercourse, but when James Watt invented the steam-engince back in 1769 all that changed.

The first textile machines were made out of wood, but that wasn't an all too attractive material since it was weak and couldn't be used for precisionmovements. England had plenty of iron and coal, but no charcoal which was needed to produce forgeable iron out of the pig-iron. That problem was solved when in 1784 an oven for "färskning" was invented and the iron industry accelerated.

Continued technological developments
During the 19th century the industry continued to develope. The steel industry got started and accelerated quickly, in 1820 17'500 tonnes of coal was produced, and in the year of 1900, 771'915 tonnes was produced. The iron and steel production increased in the same way, with prices dropping and more access to iron, machines started to become manufactured by the same material. The steam-engine had become more powerful and required less fuel than fuel than before, so now the factories could move in closer to communities, resulting in big cities amerging around the factories.

With all this growth in the industry, the next problem arose; transport.

Horse and carriage didn't quite cut it when you needed to transport raw materials and finished products. A man namned George Stephenson, who was working as a mechanic/inventor at the coal mines of Northtumberland mangaged to build a locomotive in the year of 1814. By the year 1829 the first railroad was constructed between Manchester and Liverpool. During the years that followed there was 2000 kilometers of railroad constructed in England, and this numbered increased with 500% by 1840.

The railroad opened a whole new way of intercontinental travel, never before had food supplies from the country side been shipped into the growing industrial cities, also iron and coal transports were vital to the less developed industrial countries. Even less important transports such as mail and people changed drastically. Cities began to form around the railroad centrals.

The steamer was invented by an American namned Fulton in 1802. The first steamboat route came in 1807 and took place in the Hudson river. The first transatlantic route was between New York and Liverpool and came in 1838. The steamers became faster and more reliable than the sailing ships. They were in the beginning powered by big waterwheels, but the trancended into propellers by the middle of the century. It still took a long time for the steamers to completly dominate the market, in 1880 half of the fleets of the industrialized countries where sailing ships, although passenger traffic converted to steamboats earlier.

Around 1870, France, the US and Germany had gained the technological head start until then maintained by England. At the same time Scandinavia, Northern Italy, Russia, India and Japan began to become industrialized. At first there were mostly foreign investors that began the industrilisation in these countries as a result of there not being enough funds there because of the fact that they had no industries. But these countries all benefited from the fact that England wa the first to develope these technologies, since they only got the finished product, without all the experimental techniques and variations before the technology was perfected. As an example, the swedish railroads were built with french funds. In the big industrial countries a new kind of technological discoveries started to arise. Steel, that previously had been a luxury, became cheap and easy to produce with help of the Bessemer technique which consisted of blowing air into the pig-iron. The previously worthless fosphor-rich iron that was found in Northern Sweden, among other places, was mixed with lime before it was melted and worked just as good as any other iron. The main factor for this development was the need for bigger and stronger canons. Even the iron found in trainrails and steamers was replaced with steel.

Many brand new chemical industries began to surface such as papermassfactories, factories for paint, fertilizer, and explosives, also industries for the massproduction of dynamite, aluminum, rubber and cement. It was mainly Germany that developed these kinds of industries.

When Eddison invented the lightbulb in 1879 den electrical industry also began. Electricity had previously been used by telegraphs, but it wasn't until now that workshops, streets and buildings started to use it. This also brought about inventions such as the generator and the transformator. The explosion engine also came in the 1870s that at first was powered by gas, but when they switched over to petroleum it started to take over a business previously dominated by the steam-engine. It wasn't until the end of the century when the automobile came about that the oil industry accelerated.

The industrial developments is a never ending scenario with numerous new inventions and techniques, but I think we're in a transition to a whole new revolution, the IT revolution, at the same time as the third world countries begin to industrialize.

I think that the industrialisation has changed alot, in good ways as well as bad, we have become richer materially at the same time as we watch the enviroment go to ruin as a consequence of our lives consisting of spending ever so much more time infront of some kind of screen, no matter if it's a computer, TV, or cinema screen, we are all becoming "vidiots", entertainment junkies, disregarding the decaying enviroment that surrounds us. 
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